

1 INYANG MARTIN VICTOR 19/SC101/053  
Computer Science.

10.  $y = \sin\left(\frac{3}{x^2}\right)$  from first principle.  
 $y + \Delta y = \sin\left[\frac{3}{(x + \Delta x)^2}\right]$

$$\Delta y = \sin\left[\frac{3}{(x + \Delta x)^2}\right] - y$$

$$\Delta y = \sin\left[\frac{3}{(x + \Delta x)^2}\right] - \sin\left[\frac{3}{x^2}\right] \quad \text{--- (1)}$$

Recall  $\sin A - \sin B = 2 \cos\left(\frac{A+B}{2}\right) \sin\left(\frac{A-B}{2}\right)$   $\text{--- (2)}$

Comparing equation 1 & 2  
 $A = \frac{3}{(x + \Delta x)^2}$  and  $B = \frac{3}{x^2}$

$$\frac{A+B}{2} = \frac{\frac{3}{(x + \Delta x)^2} + \frac{3}{x^2}}{2} = \frac{3x^2 + 3(x + \Delta x)^2}{2(x + \Delta x)^2(x^2)}$$

$$\frac{3x^2 + 3(x + \Delta x)(x + \Delta x)}{(x + \Delta x)^2(x^2)} \div 2$$

$$= \frac{3x^2 + 3x + 3\Delta x(x + \Delta x)}{(x + \Delta x)^2(x^2)} \div 2$$

$$= \frac{3x^2 + 3x^2 + 3x\Delta x + 3x\Delta x + 3(\Delta x)^2}{(x + \Delta x)^2(x^2)} \div 2$$

$$= \frac{9x^2 + 9x\Delta x + 3(\Delta x)^2}{(x + \Delta x)^2(x^2)} \times \frac{1}{2}$$

$$= \frac{9x^2 + 9x\Delta x + 3(\Delta x)^2}{2(x + \Delta x)^2(x^2)}$$

19/SC101/053

$$b \quad y = \frac{4}{x^3}$$

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$y + \Delta y = \frac{4}{x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3}$$

$$\Delta y = \frac{4}{x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3} - y$$

$$= \frac{4}{x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3} - \frac{4}{x^3}$$

$$= \frac{4x^3 - 4(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$= \frac{4x^3 - (x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

$$\Delta y = \frac{4x^3 - x^3 - 3x^2\Delta x - 3x(\Delta x)^2 - \Delta x^3}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3}$$

Divide both sides by  $\Delta x$ 

$$\frac{\Delta y}{\Delta x} = \frac{(-3x^2\Delta x - 3x(\Delta x)^2 - \Delta x^3)}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3} \div \frac{\Delta x}{1}$$

$$= \frac{(-3x^2\Delta x - 3x(\Delta x)^2 - \Delta x^3)}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3} \times \frac{1}{\Delta x}$$

$$= \frac{(-3x^2 - 3x\Delta x - \Delta x^2)\Delta x}{(x^3 + 3x^2\Delta x + 3x(\Delta x)^2 + \Delta x^3)x^3} \times \frac{1}{\Delta x}$$

19/SC101/053

$$\frac{dy}{dx} = \frac{4(-3x^2 - 3a\Delta x - \Delta x^2)}{(x^2 + 3a^2\Delta a + 3a(\Delta a)^2 + \Delta x^3) x^2}$$

lim  $\Delta x \rightarrow 0$

$$\frac{dy}{dx} = \frac{4(-3a^2)}{(x^2)(x^2)}$$

$$\frac{dy}{dx} = \frac{-12a^2}{x^4} = \underline{\underline{\frac{-12}{x^2}}}$$

2a Find the integral of the ff.

a  $\int \frac{dx}{x^2 + 36}$

let  $u = x^2 + 36$

$$\frac{du}{dx} = 2x$$

$$dx$$

$$dx = \frac{du}{2x}$$

$$\int \frac{dx}{x^2 + 36} = \int \frac{1}{u} \frac{du}{2x}$$

$$= \frac{1}{2x} \int \frac{du}{u} = \frac{1}{2x} \left[ \ln |u| \right] + C$$

$$= \frac{1}{4x} \left[ u^2 \right] + C$$

$$= \frac{1}{4x} (x^2 + 36)^2 + C$$

//

19/80101/053

$$2 \int \frac{dx}{(x^2+13)}$$

$$\text{let } u = (x^2 + 13)$$

$$\frac{du}{dx} = 2x$$

$$du = \frac{du}{2x}$$

$$\int \frac{dx}{x^2+13} = \int \frac{1}{u} \left( \frac{du}{2x} \right)$$

$$= \frac{1}{2x} \int \frac{du}{u}$$

$$= \frac{1}{2x} \left[ \frac{u^2}{2} \right] + 2$$

$$= \frac{1}{4x} u^2 + 2$$

$$= \frac{1}{4x} (x^2 + 13)^2 + C$$